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3.2 — m w—— w =
65 m 2mn/60 n 27 t/min J
em' J= w64 4P -dt =
3.14/64 x 21.9* —17.9* =6248.8 cm* ¢——
3 2 9.8 N/cm
25t 250 kN 4 2 1=36.8 m=3680 cm
4.2.3
3.3 o, =py/A = ﬂ/ZO x;?—df 3
GW -250 o— MPa p,—
2 3PN 13400 N d d,——
%210 mm x 3800 mm ?219 mm x 3000 mm 3 o, =1.07 MPa
4.2.4
o, =M/W= wEJfd / 2jI’
4 ~ 9.87x10° /1.5%x d/I 4
4.1 o, — MPa E—
GW -250 E =1.962 x 10° MPa [ em f—o
2500 mm 150 m 80 kN- m /150 1
45 t 450 kN 75 kW 4 . =39 MPa
22t 4.2.5
4.2 7= 95500eN / nW, 5
T MPa N——
75 kW A— 1.1 e
0.7 W,—— cem’ n
n =27 r/min
W,
4.2.1 - & od
"T16  d
W, =1141.3 cm’
5 r=17.9 MPa
4.2.6
2=pal/pa ! o =9.81k kB A/A, L y, -y x107° 6
z m p,—— o— MPa k—
1.35 kg/L p,— 7.85 1.2 ky— 1.1 B—
kg/L [— 130 m B
2=22.4m -1.05 A— em® Ay——
4.2.2 em’ A/A, 1.1 L—
130 m y— 1.35 ke/L
yi— 7.85 /m’
I= 10/w « +£0.5z+ v0.252 +1.926Jw>/q 2 6 o =115
MPa

4.2.7
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o, = «/ o, to, 2 +47'2 22000
=+ 1.07+39 2 +4%x17.9°=53.7 MPa 7 8 6 6 @ 6 6
4.2.8 © 6 O @ 0 &
o, = o +o, +4r 0O 8 0 @ & 6
= 1.5+39 2 +4x17.9° =62.9 MPa 8 B O @ 6 © O|g B+,
T G 6 6©6 @ 6 ©
< Oo._
1 e 0 0 6 6 O
o, =o0_/ pae =0.4x .
/ pa 8 0 @ @ 0 6
u— 1.3 a— -
2.5 1 1-2-3-4-5 1~2 5
o_, =86.2 MPa 4 42
3
45 A
2
5
GW - 250
<0.5%
*5 cm
8 1
1
6
6.1 / ke / T
L'ij min~! /s /% /%
) 1.30~1.45 10~15 19~28 <4 =96
5 5 ) 1.25~1.35 10~15 16 ~22 <4 =96
Q@-~0 1.30~1.45 15~20 19~28 <4 =96
@ ~@ 1.25~1.40 30~35 16~22 <4 =96
1.35~1.45 10~15 19 ~28 <4 =96
2~3
1~2
15 ~20 min
1 8 9 10 11

6.2



2006 8 27
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100 m
6.4 “ ?
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10 ~ 15 /
min
1 M .
20 ~30 r/min 5 1985. v
4 2.5m 2003.
3 JTJ 041 —2000 S .
4 M .
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2 h
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